Worksheet # 5 Name:

Provide the Scientific Notation or the Value:

(1. 8,900,000 = 1M 1.7 <102 = )
2. 6,500 = 12. 1.46 x 105 =

3200 = 13. 5.6 x 10° =

* 66 = 4. 8.8 x 10 =

5. 77,000 = 15. 6.03 x 10° =

6. 810,000 = 16. 7.1 x 10° =

7. 4,120,000 = 17. 2.4 x 10* =

898,000 = 18. 25 % 10° =

% 4,800,000 = 190 4 x 102 =

1068 = 20. 4.7 % 10* =
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Worksheet # 5 Name:

Provide the Scientific Notation for the Value:

(18,900,000 = 8.9 x 10° | [* 1.7 x 102 = 170

> 6,500 = 6.5 x 10° 12.1.46 < 10° = 146,000
3 200 = 2 x 10? 13- 5.6 x 10® = 5,600

“ 66 = 6.6 x 10! 14.8.8 x 10' = 88

> 77,000 = 7.7 x 10* 15 6.03 x 10° = 603,000
°® 810,000 = 8.1 x 10° 16-7.1 x10% = 710
4,120,000 = 4.12 x 10° | |} 2.4 x 10* = 24,000

8 98,000 = 9.8 x 10* 18. 2.5 x 10° = 2,500,000

> 4,800,000 = 4.8 x 10° 194 % 10 = 400

10. 68 = 6.8 x 10% 2047 < 10* = 47,000
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